1/2R=

WMEME TR RIS - 2025%68288 (%)
o TERAORTRES
N BR SiE-PE-ZE CEERRUHAEERELEEZSD)
BBI—F [& FTEEM HFEEH |[HEEske |[#YTESke [HExIRGIESke [HESH [ [BYRGISE [HUYRSIHE [SYRSIRE [HEXRGISE [HEXR5IHE [HExdiEIRE
1101 [ X418 GH 34 340 0 340
1113|FEAS |[EE 146 1460 0 1460 10 0 0 0 2160 0 486
GhH 146 1460 0 1460
1201|833 EF 72 1080 0 1080 15 0 0 0 918 0 864
GhH 72 1080 0 1080
1203 ¥Ry [EH 50 500 0 500 10 0 0 0 0 810 0
RE 20 200 0 200 10 0 0 0 0 648 0
& 165 1650 0 1650
1205[[F>NAE [EE 105 42 42 0 0.4 0 108 0 0 0 0
ED 105 42 42 0
1207[FE& GH 1187 125 125 0
1209 B & B 5 15 0 15 3 0 0 0 0 1512 0
(&) 5 15 0 15
1301 |FF mE 5 10 0 10 2 0 0 0 918 0 864
#mE 12 60 0 60 5 0 0 0 2160 0 1620
[E)) 66 309 5 304
1311[F<k EE 60 240 0 240 4 0 0 0 1404 0 756
EE 61 366 366 0 6 1890 0 1188 0 0 0
EES 63 252 0 252 4 0 0 0 972 0 918
Eh 184 858 366 492
1321 [ mE 20 100 0 100 5 0 0 0 2376 0 1836
BiE 121 605 0 605 5 0 0 0 2484 0 2160
(&) 143 715 0 715
1331 [MFBw  [AFS T 5 50 0 50 10 0 0 0 0 2916 0
(&) 5 50 0 50
1351|[E—<>  [K& 1230 185 0 185 0.15 0 0 0 97 0 86
(&) 1230 185 0 185
1355|455 ERE 80 8 0 8 0.1 0 0 0 0 81 0
(&) 80 8 0 8
1401|415y &S 2 0 0 0 0.15 0 0 0 0 162 0
(&) 2 0 0 0
1541 [ E& EE 655 6550 0 6550 10 0 0 0 1404 0 864
(&) 655 6550 0 6550
1603|)L)— [REH 8 80 0 80 10 0 0 0 3240 0 2916
(&) 8 80 0 80
1609|70val)  [EF 20 120 0 120 6 0 0 0 3780 0 3348
=% 10 80 0 80 8 0 0 0 0 3888 0
Eh 30 200 0 200
1611[LBR E% 12 120 0 120 10 0 0 0 1080 0 648
Eh 12 120 0 120
1612| 4 =L 2R |EH 6 30 0 30 5 0 0 0 0 216 0
Eh 6 30 0 30
1627[3=F=F  [EEX 57 171 0 171 3 0 0 0 1620 0 1188
[&0) 396 244 0 244
1705| &= =3 540 43 0 43 0.08 0 0 0 0 108 0
Gh 544 59 0 59
1803 | E =) 300 30 0 30 0.1 0 0 0 0 125 0
mS 300 60 0 60 0.2 0 0 0 77 0 66
(&) 1050 135 0 135




2/2R=2

WMEME TR RIS - 2025%68288 (%)
o TERAORTRES
P BR B E-RE CEEBRUAEERELEEESD)
BBI—F [@% TEEH HEESN |[HEEEke) [BYREEkKe) [AXR5IEE ke [HE PR [HUERGISE |[SYERSIHE [BYRSIRE [HAxXERGIEE [HExXREIHE |[#AxiR5IRE
1807 |#B f=554 150 15 0 15 0.1 0 0 0 0 49 0
=% 1830 366 0 366 0.2 0 0 0 67 0 56
f=554 390 117 0 117 0.3 0 0 0 86 0 59
Gb 2370 498 0 498
1809[L&L EH 150 15 0 15 0.1 0 0 0 0 49 0
=% 1800 360 0 360 0.2 0 0 0 84 0 78
(&) 1950 375 0 375
* SEEET * 18730 28458 946 27512
2561 |Hk (&) 8 66 0 66
2701|7—JLR |53 2 18 0 18 9 0 0 0 0 12744 0
GhH 2 18 0 18
* S EEET * 12 102 0 102




